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Simplify each expression. V =

1. 9(x-86) Qqx—54

2.20+8d 4 (5 4+ 2d)

3.30p+5-14p+g lop +13

4. 45+6k) 20 + 4k -

5. % +5d 5(3+1d) oe 5 (3+4)

6. 4 x+5(x+6) Ux + Sx + 30
(ﬁx-rso)

7. 76m~6) 35m iy
8. Ul -%) SUm - Q0

9. 17x+9-5x-7 \2x + 3

10. 8(6+y) q% + ‘K\I :

1.\ % +4- \bm-13+‘5cn Sm "\'QJ

12, 16k ‘
_”.2(4.+5k) - 10k, — |[pk+?+|0k (o}
13. 8m+3m+12+2m—8-8m¢7 (lk +% )
14 By +y+y+13 - 5m+Y | |
- N~ \l * Iy +13
- 16. r+r+9r-2 !
Wr -2
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Identify the expression that is NOT equivalent to the one given.

16. 16y +20
A. 4(4y +5) C. 20y +9—-4y+11 D. 5y+28—8+7y+4y
30 - 24w |

- C5+45W+@C 6(5—4w) (0. 15(2 - ow)

Write an algebraic expression for each verbal phrase.

c 3
18. The cost of 2 cookies g% a $1.50 soda O’z C— + “1.5D

19. Three t@s as many cg'ts as Mark 3xC @
20. tak%way 60 from a number z | 2z - (00
21. 3 pl@a number j | 3 + .)
22. a,numbe’r p decre%ed by 100 P -100
- 23, prodgst:)t of 50 and a number b - S0 x| b

24. 49 divid@ by a number z "g‘
25. 3 IesC?-than a number p P -3

o
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